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Past Exam Questions

Section 7.3
1. Given that 
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 in Quadrant I, and 
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 in Quadrant III, then  
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 Answer: 
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2. If  we use a trigonometric identity of the difference of two angles, then the exact value of 
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 Answer: 
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3. If  k  is an odd integer and  m  is an even integer, then  
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  Answer: 
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4. Given that 
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 in Quadrant I, and 
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 in Quadrant IV, then find 
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  Answer: 
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5. 
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  Answer:  
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6. If  
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 in Quadrant II, and 
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 in Quadrant III, then  
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Answer: 
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7. If  
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 in Quadrant IV, and 
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 in Quadrant III, then  
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Answers: 
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8. The expression  
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  is identical to  


Answer: 
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9. Given 
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 terminates in Quadrant II, and 
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 terminates in Quadrant IV, then  
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Answer: 
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10. 
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Answer: 
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